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1. A ripple counter is a _____ counter. 

(Parallel, Synchronous, Asynchronous, Decimal) 

2. (a) Name the circuit which is used as a voltage level detector. 

(b) Draw its circuit diagram and explain the working using waveforms. 

3. Draw the block diagram of a super heterodyne receiver. 

4. FTP stands for 
-----

5. Explain the technology used in CDMA 

6. Explain the applications of satellites. 

OR 

List the advantages of optical fibre communication. 

7. Secondary colour obtained by mixing Red and Green is ___ _ 

(Brown, Blue, Yellow, Magenta) 

8. (a) What is Cache Memory? 

(b) List its advantages. 

9. (a) The total power consumed in amplitude modulation is PT= ____ _ 

(Hint : Equation) 

(Score: 1) 

(Score: 1) 

(Scores: 3) 

(Scores : 2) 

(Score: 1) 

(Scores : 2) 

(Scores : 4) 

(Scores : 4) 

(Score: 1) 

(Scores : 2) 

(Scores : 2) 

(Score: 1) 

(b) Calculate the single side band power of AM signal with modulation index m = 0.6 

for a 500 W carrier. (Scores : 2) 

( c) In which AM modulation technique, two different messages can be transmitted 

using a single carrier. (Score: 1) 
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(Parallel, Synchronous, Asynchronous, Decimal) (acwom: 1) 

2. (a) a;ruoci8a§@l 8..lrum8 cw1g,toom>1 g2n.Ja;m>o(f)1c06>6cm cruroc0,1l§16)1 (]n.J6)a>W6@6c0,. 

(acwom: 1) 

(b) 2)2@16)1 crumc0,1lf rua>~~ waveform-c:0,~66)s cruo..0om>a;CTmr>06)S (.n.Jru<nCTmr>mo 

ru1Clc)Bfll0c06>6cfu. (acwommr: 3) 

4. FTP nq)cmom8 ____ ®Q)6ll)~ 

6. cruog6'l 6) 8..lg16) 1 g2n.J a;m>O(f)6ID3ci8 nq)6) m5)06)c06>6)m> cm~ ru1 (/() B fZIOc06>6 c:0,_ 

(il06)~ffi> 1 ro8 

63 o°d1 c06) m8 6) 6) nLl 6llJ ro cfufilll 1l 6ll)1 (]c06)o9:16) 1 (] (l) (12) c:0,cm nq)W 6 (0) 6 c0,. 

7. !l..]6(lj7d60 n.J~CD>6o cfu8.J©CTmr>1m>om8 8..1@1c06>6cm 6)(n)c06>101 cfu~© --- ®Q)6ll)~ 

((.6llJ'!>6m, m18..I, rll6llmn, fllmcm)) 

8. (a) Cache Memory nq)cmom8 nq)m5)06ll)~? (acwommr: 2) 

(acwommr: 2) (b) 2)2@16)1 (f)66ll)6ID3ci8 n©W6@6c0,· 

9. (a) ®0~1g1icw~ a;0ocw6a;8..IIT1:1m1m8 ®Q)6)cfu g2n.Ja;m>o(f)1c06>6cm ru<Jd<n PT= ___ _ 

(crui!l..l1cfu: (n)(l)(lJ0cfu1o) (acwom: 1) 

(b) a;0ocw6a;8..IIT1:1® g12o8cw~~ m = 0.6 m8 ®Q)o~1g1icw~ a;0ocw6a;8..IIT1:1® msCTmr>1m> 6306 

500 w cfu01m>016)16306 6)6)(n)(U)~6llJoqf n.J<)d© c0,6ll)c06)0c06)6cfu. (acwommr: 2) 

(c) nfil@6(0)0o ®Q)o~1g1lCW~ (]fll0(U)6(]8.JITl:1ffi18.J06ll)~ 06l1s~ (lJ1@10J?rllOCD> 6)fll(]9;\sm6cfu6)~ 

63g cfu001m>ro g2n.J(](D)0(1)1~~ (n)o(](.n.JcEM16ll)o 6)!l..]~6cm(O)~ ? ( acwom : 1) 
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10. The output voltage range for LM 337 IC is ____ V to ____ V. (Score: 1) 

11. What is the use of Router in networking ? 

12. (a) What is a cell ? 

(b) How frequency reuse is implemented in cell system ? 

13. Illustrate the working of a dish antenna and mark the main parts of dish. 

14. Design a circuit to obtain the following waveform : 

-2.7V··············· 

15. State Snell's Law. 

16. Differentiate TDM and FDM. 

OR 

What is quantization ? Where it needed ? 

(Scores: 3) 

(Score: 1) 

(Scores : 2) 

(Scores: 3) 

(Score: 2) 

(Scores : 2) 

(Scores: 3) 

(Scores: 3) 

17. (a) ___ sub-layer of ionosphere is responsible for long distance communication. 

(b) What is skip distance? 

(Score: 1) 

(Scores : 2) 

18. (a) 

(b) 

7023 

Define load regulation. (Score: 1) 

The output voltage of a DC regulated power supply is 10 V with no load and 

9.8 Vat full load. Find the percentage load regulation. (Scores : 2) 
4 



10. LM 337 IC m>66)s 63'!>§~6f a;ruoci8a;3@l m10c00~ ____ V 06@am ____ V 

(lj6)(t)(D)06ll)~ ( acwom : 1) 

11. Networking-am Router-6)1 g2n.Ja;m>o(f)o nq)CTI5)~? 

12. (a) 

(b) Cell system-am frequency ru6m06n.Ja;m>o(f)o nq)6ID36)ffi (.n.JoruroCTmr>1cfufZIOc001m5101c006cm6? 

(acwommr: 2) 

-2.7V··············· 

16. TDM-6)mm>6o FDM-6)mm>6o ru1@pCTU6)7,:JS6CTmr>6cfu. 

(il06)~ffi> 1 ro8 

nq)CTI5)06m~ quantization? 2)2@16)1 ®Q)ru(R)10 nq)ru16)Sm>06m~ ? 

17. (a) (Glo(D)(]6ll)0(n)~1m>o16)1--- (n)611.J':.8.J(D)006ll)~ Bl<nne.JBl© (lJ0(nCTmr)O(lJ1m1rllm>o 

cruow10oc006cm®~ (acwom : 1) 

(b) Skip distance nq)CTI5)06m~? (acwommr: 2) 

18. (a) Load regulation nq)CTI5)06m~? 

(b) 6306 DC regulated power supply-m>66)s 63'!>§~6f no load-am 10 V-220 

n.06ci8a;8.Jocw1am 9 .8 V ®Q)6m~ ®o@16)1 percentage load regulation 

cfu6lls6n.J1S1c006cfu. (acwommr: 2) 
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19. (a) What is toggling? 

(b) Draw the logic symbol of toggle flip-flop. 

20. A digitizer is also called a 
----

[MICR, OMR, Tablet, OCR] 

21. Which multiple access technique is used in GSM? 

22. Draw the vertical sweep signal used in TV scanning. 

23. What is geo-synchronous orbit ? 

24. Illustrate Star and Mesh topology. 

25. Minimum sampling frequency for a 4 kHz signal is 
---

[2 kHz, 4 kHz, 6 kHz, 8 kHz] 

26. (a) ____ Gate is used to compare the equivalence of two bits. 

[OR, AND, NOR, X-OR] 

(b) Draw the circuit diagram of a one-bit comparator. 
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(Score: 1) 

(Score: 1) 

(Score: 1) 

(Score: 1) 

(Scores : 2) 

(Scores : 2) 

(Scores : 2) 

(Score: 1) 

(Score: 1) 

(Scores : 2) 



19. (a) Toggling nq)cm06)8.Jm5)~? 

(b) Toggle flip-flop-6)1 (]8.JOsilcfu~ !1..fl(.@o ru0~6c0,. 

20. 6306 digitizer 6)ffi ___ nq)cm6o ru1~1c0@6cm6. 

[MICR, OMR, Tablet, OCR] 

22. TV scanning-am g2n.Ja;m>o(f)1c0@6cm vertical sweep signal ru0~6c0,. 

23. Geo-synchronous orbit nq)m5)06m~ ? 

25. 6306 4 kHz signal-6)1 n43gru60 c0,6O6llmn sampling frequency ___ ®Q)6m~ 

[2 kHz, 4 kHz, 6 kHz, 8 kHz] 

(acwom: 1) 

(acwom: 1) 

(acwom: 1) 

26. (a) 06l1s~bit-c0,~66)s cru0om@ m1ro~m5lc0@oo8 ___ Gate g2n.Ja;m>o(f)1c0@6cm6. 

[OR, AND, NOR, X-OR] (acwom: 1) 

(b) One-bit comparator-6)1 crumc0,1lf ru0~6c0,. (acwommr: 2) 
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